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ABSTRACT :

This theory is an attempt to describe the universal phenomena like space,
time, matter and energy as an inter-relationship bound by a newly
discovered force named as the universal force. The universal force is
shown to be the force of gravitation, electricity, magnetism, strong nuclear
and weak nuclear forces. | believe any other force, hitherto fore not
discovered; also, can be explained in terms of this universal force.

Liberal use of wave-particle duality, relativity, quantum concepts is made to
achieve a harmonious and comprehensive synthesis of all the existing
beliefs in physics into a new theory with some new concepts added here
and there. While adding new concepts, enormous care has been taken to
ensure that the existing beliefs are not contradicted. Moreover, the new
concepts are proved to be correct theoretically by deriving the constants
like G, o, etc.,
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|. INTRODUCTION
UNIVERSE & UNIVERSALITY

From time immemorial, the struggle to understand the phenomena
surrounding us, has been our chief occupation, second only to the struggle
to survive. After successfully surviving the predators and harmful wild
creatures, we have started building secure measures for food, cloth and
shelter. Nevertheless, the natural calamities like floods, fire, earthquakes,
and disease continue to wreak havoc with all the life and human life in
particular. Death and disease could not be overcome fully by all the
scientific measures invented so far.

We have started exploring our immediate environment in an attempt to
understand the natural phenomena surrounding us. This attempt to
understand is only to build safety and survival from the onslaught of the
Nature's fury and to harness Nature’s forces to the benefit of humankind. In
the process, various gods and goddesses are proposed to be the cause of
various phenomena. Sometimes, sacrifices are offered to gain the favor of
the deities and worship also is done to please the gods and goddesses.
For example, many rituals are done to get timely rain and to reap a good
harvest. Worship is done for timely sunrise also. Slowly, we have realized
the Sun and the Moon follow a regular pattern of rise and set whether a
worship is done or not, and whether a sacrifice is made or not. We also,
came to know that the celestial bodies behave in a regular pattern. Hence,
the proposal came that the Earth was the centre of the world and the
celestial bodies went around the Earth according to this pattern. Later
investigations revealed that the Earth and the planets are spherical bodies
which went around the Sun. Further, it was revealed by Newton’s gravity
and confirmed by Einstein’s’ relativity that gravity is indeed the major force
acting among the celestial objects including our solar system.

Moreover, we have generalized the natural phenomena in the form of laws;
because, they seem to follow the same behavior wherever and whenever
we observe. Based on this observation, certain theories are proposed as
the explanation for the behavior of the phenomena on the Earth and with
regard to the celestial objects. A theory is a set of assumptions and rules,
which describes the way the celestial bodies behave including the Earth on
which we live. If the predictions made by the theory are observed in
practice and also, if the theory can answer all the related questions, then,
that theory is deemed as valid and used for further understanding of the
universe.



As time progresses, better and more refined theories of the universal
behavior are put forth for accurate, complete and comprehensive
understanding of the universe we live in. Our ultimate goal is a total
understanding of the universe. With the help of such understanding we can
protect our life along with Solar System and Milky Way Galaxy against a
possible, natural, cosmic calamity. So far, our assumption about the
universe is that the laws which are valid on the Earth and the Solar System
are also universally valid. This universality of the laws is at the basic core
of the ‘Theory of Universality’ developed by the author .



THEORY OF UNIVERSALITY F

This theory is an attempt to describe the universal phenomena, the inter-
relationships among the four fundamental quantities space, time, matter
and energy with a precise and accurate mathematical quantification of the
relationships. In the process, a force, named as universal force pervading
the universe; and, which in turn manifests as every other force locally or
universally present is also described. That is to say there is only one force,
the universal force. Every/any other force is a manifestation of universal
force.

Liberal use of Einstein’s relativity, deBroglie’s wave particle duality.

Planck’s quantum radiation is used to synthesize all the existing beliefs into
a harmonious and comprehensive “ Theory of Universality .

[I. POSTULATES

1. Space is the medium using which light travels.
2. Speed of light is the critical attainable speed in our universe.

3. The universe when the projection of time (4™ dimension) is taken on
a three dimensional medium, is like the two-dimensional sheet
(shadow) model of a three - dimensional object in 2-dimensions.

4. Nothing in the universe can be fully destroyed.

5. Space, Time, Matter and Energy are inter-related. They exist together
in anywhere and everywhere in the universe. None of the four
fundamental quantities like space, time, matter and energy is
uniquely existent in the universe.

6. There exists a very powerful force to be named as the universal
force, because of which other forces like gravitation,
electromagnetism, strong and weak nuclear forces manifest.

7. The universal force condenses space into matter.

8. Every physical law has some inertia of existence which is quantifiable
in space-time-matter-energy frame of the universe.

9. Any physical law can be created and preserved with a certain inertia
in space-time-matter-energy frame.

10. The truth of the universe keeps changing depending on where, how
and at what time the observation for a certain truth is made with an
inclination to reach experimental proof of theoretical conjectures.
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In all, there are ten vital formulae; six of them describe the relationship
among space, time, matter and energy; four of them describe the
relationship between universal force and space, time, matter and energy.

[1l.INDENTATIONS AND EQUATIONS

Assume that there is a particle of mass m, Compton wave length {; let, the
energy stored in it be E. Assume, the universal force utilized in creating the
particle is F. Here, let me assert that the universal force which created the
particle also bestows on it a time of ‘t’, t is the time of inertia of existence
the particle will have during which its changes become nil. Any change
anywhere in the universe manifests as time. The time inertia (also called
laziness of the particle) between two successive changes is ‘t’. Then the
10 (ten) formulae giving the relationship among space, time, matter and
energy and F are as follows:

T E=mMC oo Einstein’s mass-energy equivalence
2.0 =h/MC o space-mass equivalence
3.t =h/MC% e, mass-time equivalence
4. E=hc/ b Energy-space equivalence
5. E=h/t Energy-time equivalence
B. L= Clere space-time equivalence
7. F=hC/82 e, Force-space equivalence
8. F=h/C t2 i Force-time equivalence
9. F=E? /Chuvieiiiiiiiiiiiiiiieee e, Force-energy equivalence
10. F=m2C 3/ e, Force-mass equivalence
Where h= Planck’s constant ; c= speed of light Einstein

Derivation of the equations:

1. E = m ¢® is the popularly already- known
equation of energy-mass equivalence of
Einstein’s

2 .=h/mc

Particle
________________________ & o

\ Space
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Space, is like a sheet in the 4™ dimension of time, That is, assuming we
have entered the 4" dimension of time, and, we are able to perceive past,
present, and future as one; then, the 3 dimensional space, would look like
2-dimensional shadow in the time frame. The universal force F condenses
space into matter. Suppose the energy spent / created in creating a particle
of mass m is E. Suppose, the Compton wave length of the particle is { ,
with a time inertia (also called laziness of the particle) of t. The mass -
space vibration within the particle moves at a speed c, speed of light, to
achieve simultaneity every where. Then, by wave - particle duality (of
Louis d’ Broglie):

= h/ m c- this is true in case of proton.
= rest mass of neutron or proton = 1.674 X 10 ~%
= Planck’s constant = 6.626 X 10 %

= proton Compton wavelength works out to be 1.319 X 10~ "°

mjg“‘

by above equation of £ = h / m c; which agrees with the experimental value
of 1.321441 X 10 ~"--- proved ! (all in MKS units). Similarly, in the case of
an electron;£=h/mc.

m=9.109X10"% ¢c=3X10%h = 6.626 X 10 **

? works out to be 2.424 X 10 "' which is Compton wavelength of an
electron which agrees with experimental result of 2.4263107 X 10 2 —

proved !

So , the equation £ = h / m ¢ ; where £ is Compton wavelength ; m is the
rest mass is true in the case of proton / electron.

3.t=h/ mc?

By Planck’s principle of Quantum radiation of energy; this very particle
behaves like an energy packet of wavelength ¢ (£ is the Compton wave
length ) and time t.

E=mc®=hv=h/t St=h/mcdc?
This implies that for an electron m = 9.109 X 10 ' kg;

t= 8.081 X 10 " ( all in MKS units everywhere) is the laziness or time
inertia. This means that between two successive changes to an electron;
there must necessarily be a period of 8.081 X 10 ' seconds. After which
period only, a change can be enforced on an electron. So, it is impossible
to change an electron in position or pace or state faster than this. If so, it
will no longer be electron.
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4 . E=hc/t.We already know that E = h v (Planck’s theory). But, v =

c/ ! vis the frequency of the energy packet contained in the
particle.2E =hc/{

5.E=h/t,.This is simple; because, E=hv;andv=1/t > E=h/t.

Note: it is assumed that a particle of time inertia t., will also behave
like a wave of cycle time ‘ t' ., when converted into energy E.
therefore, E=h/t.

6. ¢ = c t. Now, the particle has mass ‘m’ in all directions of
observation, and points of observation within the particle. This is
possible only when the mass-space vibration within the particle
moves at the speed of light (to ensure simultaneity) of wavelength
£.(compton wave length)

f/t=c 2> i=ct

7. F =hc /22— when universal force F ; acts on the particle to create a
particle of Compton wave length £ ; the energy spent / created is;

F.l=hv=hc/{>F=hc/1?

A force of universal force = 3.395 X 10 “? Newtons is spent in creating the
particle electron.

8. F=h/ct.lt is assumed that the time inertia of a particle is the
same as its cycle time when converted into energy-wave. This
means { = ct ; applied to the equation — 7 gives:

F=hc/l?=hc/c?t®=h/ct?.>F=h/ct?

9. F = E?/c h. Energy spent in creating a particle of compton wave
length £, from the basics of physics is E = F. £. Therefore, F = E? /ch

10. F=m?2c®/h. from equation -9 , we have F = E 2/ ¢ h. We know
that, E=mc?.therefore,F=m?c®/h.

IV. PROOF

Proof that my theory is correct and valid follows. | will theoretically derive
the value of ‘G’ (gravitational constant) and show that this coincides with
experimental value.
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Consider the gravitational constant as G, and take the gravitational force
between the Sun and Earth as F. We know that

GMiM,
R2

F=
. where M; = mass of Sun
M, = mass of Earth

R = mean distance between the
Earth and the Sun

But, according to my theory of universality, the universal force exerts a
force of m 2 ¢ ®/ h for the particle. In the case of Sun, this universal force of
the various atoms is compensated by various layers of the particles within
the Sun; except the upper — most layer. In the case of upper-most layer
half of the tension created by the universal force on space appears as
gravitation towards the outer space away from the Sun, the other half is
turned inwards...... and is duly compensated within. No. of atoms (mostly
Hydrogen) on the outermost layer of Sun is

47'ER12

5 where the R ; is the outermost layer’s radius on Sun
41 r4

and r ¢ is the mean free path of the Hydrogen atom on the
Sun’s surface

The comprehensive force released by this on the outer space away from
the sunis :
47RZ m?c
4mry’ h

2 :the factor V2 appears because the other half is
turned within. Therefore, the gravitational force
exerted by the Sun is :

47tR12 ) m? c?
4TCI'12 h

Ve

The force experienced by the Earth due to the force emanating from the
Sun is

4nR,°

4AnR?2

M;M 2 2 3 2
fraction of the total force ;= F= G —ézi 1, AT R12 . mc” 4AnR
4t 14 h 47 R?
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Where R ; is the radius of the Earth; R is mean distance between the Sun
and the Earth . The fraction only is experienced because that is the area
covered by the Earth. If the total area of 4 m R® from the sphere
encompassing the Earth is considered. Again , half of this is not considered
because, this is fully experienced by the Earth and therefore, this is the
gravitational force exerted by the Sun and experienced by the Earth from
the Sun. ( Actually, volume and density should be taken. As an
approximation area is taken)

Note: all values are taken in MKS units everywhere.

G- R? 1 _47tR22_ m*c¢®  4n R O
MM 4n R? h 4mr?
r 1 = mean tree path of the Hydrogen atom on the Sun’s surface @ nearly

6000° K. Mean free path of air @ 288° K = 6.6317 X 10® . So, for
Hydrogen atom approximately at temperature of 6000 ° K.

6000
288

28.986 _ 414481 X 10 ® metres

r{= 6.6317X10°% X X
( 28.986 is the average air weight : 1 is Hydrogen atomic weight on Sun’s
surface @ 6000 ° K. Hydrogen in that environment is in atomic state and
not in molecular state. It is assumed that mean free path is directly
proportional to the temperature and inversely proportional to the atomic

weight.) .

In the derivation of the gravitational constant G, the factor 1 was taken for
the universal force on the outer space atoms of Hydrogen on SUN ;
because, this factor 1= atomic weight of Hydrogen atom for proton was
taken in the derivation of the mean free path for Hydrogen atom on the
sun’s surface ( atmosphere) @ 6000 ° K, because the Hydrogen is in
atomic state and not in molecular state.

r, = mean free path of Hydrogen on sun’s Surface = 4.14481 X 10 ®°
R .= Radius of Earth = 6.371 X 10 ®

R ;= Radius of Sun =6.960 X 108

m = mass of the proton = 1.674 X 10 *’
c = Speedoflight=3X10°

h = Planck’s constant =6.626 X 10 **
M; = Mass of Sun=1.99 X 10 *°

M,= Mass o f Earth =5.977 X 10 *
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Substituting the above values for r1,R> Rym,c,h,M; M, in
equation— (A) above;

we get G=5.871 X 10 ™

which agrees with the experimental value of 6.673 X 10 '" .

The slight discrepancy can be due to the various assumptions and
approximations and the too simple an approach taken for evaluating the
mean free path of Hydrogen atom on the Sun’s surface.

Hence , my theory is proved to be right !

Derivation of Stephen’s constant : (MKS Units)
To prove my theory is right and valid once again :
Consider the total force emanating from the sun is
F=1. R : m* ¢’
r 12 h

according to my theory.

Where r ; = 4.144181 X 10  is the mean free path of Hydrogen on Sun’s
atmosphere.

But, according to my force — energy equivalence ,

2 2.3 R
F=E2/ch:>E—_‘chh:>E=\I1/z R . mc oh- 1 P
r12 h \]? I

: because of this energy outpouring away from the Sun ; the maximum
power emanating from the Sunis E/t, where t, is the time inertia ( or
laziness of proton). t, is the minimum time required for releasing energy
by Sun’s outermost Hydrogen surface. Therefore, maximum power
released by the sun is ,

1 R, mc

P=Elty= [F " —

where t , = h/mc? according to my theory.

_ 1 R1 mzc
Hence P = > - —
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But, according to Stefan-Boltzmann law of radiation : the total energy , E ,
of all wave lengths radiated per second per square meter by a full radiator
at temperature T to surroundings at temperature T, is given by E=c(T* -
T ) where o is Stefan’s constant. The maximum power released by Sun
(considered as full radiator ) at any time is o(T *-T*)X 4 © R;*> " (C)
where 4 1R ® is the total surface area of Sun.

Now , T, = 0° K (approximately)

1 1 1 m?
Therefore, from & c = R C
@ 4 Py T4 \/—2— " 1R1 h

Substituting values for T, R4, ry, m, c, h ; we get

o = 5.314 X 10 ® ; which agrees with the experimental value of
o = 5.66969 X 10 , hence, my theory is RIGHT.

The slight discrepancy can be due to the approximations made in T, Ty, r4

Values used are :

T = Surface temperature of Sun = 6000 ° K

To = Temperature of surroundings ( approximately ) 0 °K

m = mass of proton/ neutron ( rest mass ) = 1.674 X 10 #" kg
speed of light =3 X 10® R ; = radius of sun =6.960 X 10 ®

= mean free path of Hydrogen on sun’s surface = 4.14481 X 10 ®

h = Planck’s constant = 6.626 X 10 >

(@)
I

Further Proof :

Here, follows further proof that my theory is right and valid . | will now
theoretically derive the values of e uo, € and show that they coincide
with the experimental results.

€o = free space permitivity
Mo free space permeability
e elementary charge of electron/proton

First, derivation of €



One more postulate in my theory:

Charge e, is same as mass m, of electron on its classical radius r ¢ .
Electron’s Compton wavelength is the wavelength it behaves ( is observed)
as a wave ! .. Electron behaves like a mass of m o ( rest mass) ,
wavelength (£ . ) of Compton wavelength , laziness to=h/m.c? and an
energy packet of m . ¢ 2, and a charge e all at the same time and also like
a particle. Thatise,m. r. £, E . are all synonymous at the same time.
What you get is what you are observing for. Energy due to electronic

charge = )
e

47[60 Erre

= m, ¢® (mass—energy)

Yeo=—— & 1 1 (1602x107)* _ 1
4n e mMeC” 4w 2817x10™  9.109x107"  gyq08
€0=8.842 X10 ™ Fm™ .......... which agrees with experimental value
of 8.854 X 10 Fm ™" ... PROVED !

Which again proves that the assumption in the postulate is true and valid.
Now, to derive the value of L, ( free space permeability ):

We know; by using Ampere’s law; the force of electron and proton as
elements of currentis (L, e 2 ¢ ?)/ 4mr? ; whereris the Hydrogen atomic
radius ; which means the mean distance between proton and electron.
According to my theory of universality, the force (universal force)

m2¢®

h

due to a particle of mass m is

the force due to both proton and neutron in Hydrogen is (2m)? ¢/ h from
the nucleus ; the force experienced by electron in the orbit would be

(2m)?c® .

(4/3m 1)/ (4/3 nr®)

Where r o is the classical radius of electron and r is the atomic radius of
Hydrogen. Therefore,
W e?c? 4m?c e

4713I’2 B h r3
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Substituting , the values for all except ., ; we get,

o = 0.9596443 x 471 x 107 MKS units.

Which agrees with the experimental value of 471 x 10 7 for p,

And u , is approximately 1 ( one) for Hydrogen. Hence, my theory is once
again proved to be right and valid. Note: the universal force due to electron
is considered negligible. Hydrogen in molecular state is considered,
because only then pu , is 1. Value of e : Once again, consider the
electronic charge — energy ;

and equate it to mass-energy m.c® =e°/(4 meq re)
According to my theory charge and mass are same at the same time
Substitute €, =8.854 X 10 "® in MKS units and we get e = 1.603 X 10"°

Which agrees with experimental result of 1.602192 X 107'°. | have derived
G, o, €9, UL o, Using my theory and they have all agreed with experimental
results. Hence, my theory is right and valid including the postulates made
therein. In the derivation of po Electron’s classical radius and volume is
considered ; because electron is taken as one continuous and cohesive
particle ; in which case, area is not applicable.

Discoveries : ( PREDICTION — 1) :

1. | have made a discovery that the Earth is exerting a force on the sun
which is nearly 20,000 billion times ( 2 X 10'®) the force which the
Sun is exerting on the Earth. The force exerted by Sun on the Earth
is manifesting mostly as gravitation.

Force emanating from Sun and exerted on the Earth

Fi= R’ . my” ¢ . Re" 1
r? h R® 2
Similarly emanating from Earth and exerted on the Sun
o RE L MEC RE
r22 h R2 2
: Fg m22 r12
( according to my theory). F = e - @
1 my o
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m; = elementary particle mass of Hydrogen on Sun’s surface.
=1.674 X 107’

ri = mean- free path of Hydrogen on sun’s surface = 4.14481 X 10

Regarding the Earth’s surface sans the atmosphere,

Nearly 75% is water ; 25% is sand which is mostly silicon

Silicon density = 2300 ; water density = 1000

Average surface density = 1325

Silicon molecular weight= 28.09

Water molecular weight = 18.02

Average surface molecular radius r» is given by

3 (0.75X18.02+28.09X0.25)X1.674X10%" x 3

)

1325 4r
r,_ 1.83 X 107'° (Approximate)
mo/ my - 0.25 X 28.09 + 0.75X18.02 = 20.5375
Fo/ F1=2163.7258 X 10™°
Substituting my , ry, mo, r2 in equation ............ @ above; we get

F,/F,=2163.7258 X 10'°

which is nearly 20,000 billion times ; or2 X 10 ™ times

The Earth exerts a force which is nearly 20,000 billion times ( the
gravitational force of sun on the Earth ) on the sun. The sun is fusing with
Hydrogen as the fuel. The enormous force ( nearly 20,000 billion times the
sun’s gravity on earth ), which the Earth is exerting on the Sun helps

Hydrogen to fuse and helps sun to remain a shining star.

2 . Planets are drifting away from the sun . (REFER ANNEXURE — II)

The energy released by sun causes space of equivalent amount to be
released at the same time. Because of this release of space , all planets

are drifting away from the sun as given below.

E= % £ = E I ; and v is the speed of drift of the space
0 E JFch P

h mc® mc® I
=N2 f-c= v=v2 [

c

= — | D>V=e—e =
[ mc? NFch 1 R, me?
J27

I
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Where ry, is the mean free path of Hydrogen atom on the surface of the sun
and R; is the radius of the sun . This is approximately 2.4382 X10®° m/sec .

Which is approximately 768 m / year. v = 768 m/year. This is the rate of
Compton wave length of space released radially at the solar—
corona,(solar—corona is considered; because inside this Solar Corona, the
atmosphere interferes with space released)

V.
1.

10.
11.

CONCLUSIONS

The discrepancy in evaluating G & o as compared to the
experimental result is negligible.

. It is possible to create any physical law and give it a certain amount

of inertia in space — time — matter - energy frame.

. It is possible to create planets , stars , satellites to the planets and it

is equally possible to change and control the movement or
momentum of any celestial body in the universe.

Reflection of light in a mirror is due to the nuclei gravity of the mirror.
Incidentally, every neutron behaves like a black hole. The neutron
gravity ( super gravity) bends light in a U — turn . There is a time
mirror on the surface of neutron because of which ; the reflection
( image) looks equidistant from the mirror as the object.

. Refraction of light is the bending of light by neutrons ( black holes )

within the atom .

. The black hole surface acts like a time mirror showing future as past.

Gravity nullification can be achieved for gravity - zero travel.

. Every object in the universe displays time inertia ( also called

laziness ) ; which is quantifiable as t = h / m ¢?

Intelligence = memory X thinking ( a product ), whenever either
becomes zero ; Intelligence becomes nil .

There is extra-terrestrial intelligent life.

There is time crunch in the universe as in the case of lightning. The
same event is described by light faster than sound. Sound is not only
coming after lightning is seen; but, also the thunder is heard for
longer time than the time lightning is seen.



12.

13.

14.

15.

16.

17.
18.

19.

20.
21.

22.

23.

24.
25.
26.
27.
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The laziness of any physical body is t = h/mc? ; the duration during
which no change can be enforced on the particle or body in any
manner whatsoever.

Thought ( impulsive thought ) is a gravity wave.
Cosmic waves can influence our intelligence, memory and thinking.

Earth moves or any celestial body moves in jerks and not in a
continuous manner....... similar to Planck’s hypothesis that energy
moves in Quanta.

Any event is described by light, sound, and others over different
durations of time.

Smell and taste travel like sound, energy, light etc.,

Thinking can be known in advance ( or at the same time ) if we can
sense gravity waves.

We can achieve vehicle — less travel other than walking, running,
jumping, falling and crawling...Etc.,

We can predict certain events ( all, if required)

There is no perceptible boundary to the universe in space-time-
matter-energy frame.

We can generate thinking in others along the pattern we desire using
gravity waves.

Time moves in a circle called circle of time. Any single point on it is
present ; when we move in time by perception of changes around us ;
we go into past and future at the same time from present. Any
change anywhere manifests as time.

Time and passage of time are same.
Absolute time is maintained by black hole.
There is no zero time except on black hole.

All forces are components of the universal force ; manifestation of
universal force
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New Discovery: The Sun and the planets in our Solar System are going at
a speed in the universe higher than the speed of light.

Observations

1. The Earth going round the Sun has a speed ( in an absolute sense )
higher than the speed of the Sun , whatever the speed of the Sun
maybe. ( That is the Earth has its own speed plus the speed of the
Solar System along with the speed of the Sun).

2. The starting mass of all celestial bodies is same.

3. A celestial body ( like the Earth ) going at a speed higher than the
speed of the Sun has a mass less than the mass of the Sun. This is
possible only if both are going at a speed higher than the speed of
light as per equation.

Conclusion: This means that we are ina —v e World . The world of anti-
matter.

Incidentally there is a massive black hole in the Centre of the Universe
around which the rest of the Universe is going around. The black hole is
the window to the + v e world.

Proof:

Assume:

M Mass of the Sun ¢ = Speed of light
M, = Mass of mercury

M; = Mass of Venus

T, = Period of Rotation of Mercury Round the Sun

T, = Period of rotation of Venus round the Sun

V., = Speed of the planet mercury round the sun

V; = Speed of the planet Venus round the sun

Mo = Starting mass of all the celestial bodies in the Solar system
R. = Mean distance of mercury from the Sun

R; = Mean distance of Venus from the sun



-15—

Then,
M= Mo and m, - M; . and M= Mo
1- V+V4
Lo =
M 1-Y- =My [1- 2 =M , 2
= 2 1 (VCL;H) 2|1 LV_;;/z)

= (M*-M®) v*=2 v v; M - My2 v{2 - c® (M? - M%) =0 ; we know that
M? >> M, % ie., M® — M, = M?
= M*. v =2 vv; M = (M® v{® + c® M%) = 0 ; Approx

V= 2ui M2 4 viZ M+ M2 (G MR + M2vi? ) ;2 M2 >> M2 v,2
2M?

= V= 2V M1zi \/4 V12 M14 + 402 M4 ApprOX ; 02 M4 >> V12 M14
2M?

, v; = 0.35032 X 10° m/s = 270

:>v=v1—m%ric=2.0993x10'7ic M =1.989 X 10*°kg T
M, =4.869X 10** kg

Now, | will re-derive the Kepler’s laws of planetary motion to prove that all
the above assumptions
are correct.

Mo MO
M; = 7 ;M= ——
1- (V+Vy _ 2
(—TC 1 (V;Vz)

= Mo?= M2 ( 1o (v+v4)? ) = M2, (1- (v+V)?)
- &

Kepler
= MZ@vv; +Vvi%) = M2 . (2V v, + Vo9 ; vis very nearly equal to ¢
as per above ie.,v=c

= M12 (2C Vi + V12) = M22 (2 CVve + V22)
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Since c is very much greater than v; and v;

M12.20V1= M22 .2CVo>
:>M12 Vi = M22 Vo

= M12 Vi = M22 Vo

= M12 Vq = M22 Vo = Mi2 v, = constant

In the case of planets M{’v = constant where M, is the Mass of the planet
and v; is its rotational speed around the sun.

The energy of a planet due to rotation around the sunis 2 Mv;?

2
The force is My v;
Ri
But , from my theory of Universality a force F is equal to an energy E given
by E= N F.ch ; where h = Planck’s constant
o M v42 AM, v+2 4ch
This implies that 2 M2 =| " ch = M2y, = T4V g .= 20
R; R; Riv
Substituting in @ i.e., M v;= constant, we get
M vy = constant = mz = constant
I:§12 V14 ' I:§12 V13 B
27'CR1 ) ]
But, we know that v; = T ; where T, is the period of rotation
1

around the sun, by the planet.

2,2 T3 T3
— 16T _ constant = | —— = constant

5
R12 . 87‘53 R13 R1
By Kepler’'s laws of planetary motion:
. . TER12
1. Planets sweep equal areas in equal times . T. = constant —@
1

2. The square of the periodic time is proportional to the cube of the
mean distance of the planets from the Sun.

3
R; = constant  (2)
T
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By equations @ and @ ; we get

TCR15 R15
5 = Constant = 3 = constant =
T4 T4

Now , Both & @ are the same.

T,
R

= constant

—©

Hence , Kepler's Laws are proved as per theory of Universality. This

implies that the assumptions :

1. The planets and sun are traveling at a speed higher than the speed

of light.

2. The starting mass of all celestial bodies is the same;

are both correct and valid.

| have made a lot of approximations ( reasonable approximations ) in
deriving the above. However, | believe the concept is more important than

precision.



THEORY OF UNIVERSALITY

Annexure - |

Boltzmann Constant (k) :

As per kinetic theory of matter; the molecules of an ideal gas at
temperature (T) have a mean thermal kinetic energy given by E = (3/2) kT;
in 3-dimensions where k is Boltzmann constant. However, in uni-
directional consideration; the same is E= "2 KT. The Sun’s surface has
mostly Hydrogen in atomic state. But, when hydrogen particles collide;
they can fuse; the fusion dynamics being altogether different; let us take
helium an inert gas; which does not fuse at the Sun’s surface as reference.
The layer below the Hydrogen layer is mostly Helium. Helium molecule
has a mean free path given by

r=6.6317x10° X (6000/288) X (28.986/8)
Where. 6.6317x10® = mean free path of air @ 288°K

6000°K = Temperature of the Sun’s photosphere
288°K = ICAO temperature of air.

28.986 = Average molecular weight of air.

8 = molecular weight of Helium (two He

monoatomic molecules)
Helium exists as molecules on Sun’s surface; r = 0.5005897x107°

Now, suppose the Kinetic energy of Helium molecule is E; The Helium
molecule travels in a linear path until collision. By my theory, E is equal to
a force F given by F = E?/ ¢ h. So, the Helium molecule travels with this
force until collision, which is assumed perfectly elastic.

This implies: F.r=(E®/ch).r=E=E=hc/r.
Now, in one directional movement; which the Helium molecule does; till

next collision:

2 6.626 X 10°* X 3 X 108

(o) kT=hc/r=k=@2T).(hc/r) = -
6000 0.5005897 X 10°

k = 1.3236389 X 10®; which agrees with experimental value of
k =1.38062 X 10



Hubble’s Constant H, :
Hubble’s law is v = Hg R.

The Sun as per my theory is traveling at a speed ¢ + v; where v = 2.0993x
107; light is the information carrier. With respect to the light (which is used
to get information about the speed of separation of stars); the relative
speed of separation of Sun is v. This is the speed of separation (v) at the
solar corona edge i.e., 21.14 R;. (Approx). Rs is the radius of Sun’s
photosphere. = 6.96 X 10 ® m

Actually Rg.coona = 21.14 Rs = 147.1344 X 10 % m

Compton wavelength of Sun
=21 X I:‘s-corona
The speed of Sun ¢ + v is present over its Compton wavelength.

2.0993 X 10 7

— -18 -1
27X 1.471344 X 10 © ~2.2667X10 s

:>H0=

agrees with experimental value of

= Ho= 2.5X10 s +15% found in

The year 2006 A.D.

Note: Rs.corona IS the radius of the Sun, till which atmosphere exists. (refer :
Annexure |; Page : 11)



Strong Nuclear Force:

Suppose, the Confinement radius is R

Quark — 1 Quark — 2

Each, proton
Comprises of three quarks
Quark mass = m,/ 3 = mq

rq=(ro/ 4) x 1.732; 1, = Ay / 2 @, Ay = proton Compton wave length.

e, = 1 for free space.

Then, the force of repulsion between two protons (6 quarks) is matched by
the universal force of attraction as :

41
C6 mp/3>2 C 3 3 X( X 1 732) e 2 1
h 47 dne,e, R?
3

3
R - 36 X mp ( y 1.732> 4 neezoer



3
1.3214
m - 36x1.672%10™%27x10* ( an X1 .732 X10*°x 4 7 x 8.854 x10™"

9x6.626x 10 3 1.6032 x 1038

=1.4453 x 107"

which agrees with experimental result of 107° m (Approximately).

Weak Nuclear Force :

Energy at speeds greater than the speed of light ‘c’, behaves like anti-
matter. Within radioactive neutron the energy trapped within the neutron
behaves like anti-matter and splits neutron into proton and electron. The
resultant repulsion between matter and antimatter separates proton and
electron.

UF around a proton is

Electrostatic force is e?

Dy
4 e, r

Where r is the distance of separation between the two nearly concentric
spheres of proton (radius r,) and electron (radius re). Force is inversely
proportional to the square of distance r i.e., r>. Energy is work done; a
product of force and distance (r). Therefore, energy is inversely
proportional to the distance r i.e.

e? r

p
dweyr fe

is the energy in the creation of electron from a neutron

(against the attraction of proton on electron)and r is the distance of the
weak nuclear force by which proton and electron separate. This is equal to

2.3
mpC .r

h

the repulsion between matter and anti-matter =

2 3 2
my” C e o

Therefore, r= —— P
4 TE Eo r re

;er=1



_5_
’
e? h h 1.321x10"°X 2 x
Ame,r m2c® Te ife = 2426x107X {1
2T

P =1.1023 x10 36

r = 1.0499x10'® which agrees with the experimental value of 10" m

Universal Gas Constant (R) :

Take one mole of Hydrogen @ 273° K. At this temperature Hydrogen is in
molecular state. Therefore, mean free path of hydrogen is

28.966 6.6317 x 10° x 273 .
= : = 0.90277 x 10® m
1.00792 x 2 288.15
V= —2% 1. Na=1856725x10°

2.3

Where N, is Avogadro constant. A force of is present at the

surface of the object with mass m and this force is present over a Compton
wave length of A and a sphere of radius (A/2r). Assume R, is the radius of
one mole hydrogen sphere; and A is the Compton wavelength of Hydrogen
Molecule.

Force ‘' F’ present at Ry is given by :

4 A =2
m2c ® 4 1t Ry? : Cﬂ)

F=1>
h 47trH2 4TCI’H2
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We know that pressure P is Force per unit area.

m?c 2 -
P=1 - 4nRg 4T <27t> 1
47y 4 1 rf 41t Ry
Also, PV = nRT
2.3 2 2
m“c Ro A 1 \
R =V
DA " 42ng  4nR2  nT
1 . 4mp20 ’ 7\'p2 1_ L nNn= 1
= 7 h 4% 4m 0T ,

1.67262x 10 x 27 x 10 24)( 1.32142 x 10 « 18.56725 x 10°
6.6262 x 1034 12 x0.90277*x10%* 47 x273 x 1

Y

= 8.21179 which agrees with experimental value of 8.3143

Free Space Impedance (Z,) :

A wave of wavelength A behaves like a spherical object of radius (A/2m). €,
is the charge of light when seen as a particle.

_ hc e?, 2
E=Lf Folt = 5% = Zrcy 3 =8¢ =20 ho ()
2T.
I2= e 2 . .
But, we know P : L ;where e, is the charge of light when seen as a
!

particle and t ; is the time inertia of light as a wave particle; that is when
seen as a charge patrticle.

Therefore,

e’ e,’
E=Ip2 .Rot[ = t2[ .Rot[ = te -RO - @
?

But as per Planck’s hypothesis, light of wavelength A and time inertia of t,
behaves like an energy packet of energy h/t,.




Ro due to resistance is Ry =

2600

HoC
2

Ip duetoinductance is I =

So, Z, due toimpedance is = Ro+1o =15 ( —;O_g LoC)

, : 1
As per maxwell's equation p,eq = 2

=

Zy = V2 +%®=%.[1 + 1] .

€oC €gC €gC

Z,=1/e,c = 376.73021
which agrees with experimental value of Z, = 376.7304

Alternatively, since poc, = (1/ ¢%) ; Zo = oC.
Speed of Rotation of the Sun () :

Rs = radius of sun, ws- speed of rotation of sun,

Vs speed of sun in absolute sense, M, = starting mass of sun



since momentum is conserved.

We know that M, for the Sun = 7.441 x 10%

22 8
Hence, o, = (441 X107 X3 X10° _ 4 51170 x 10°®, @
1.99 X 10%° X 6.96 X 108

Actually, observed rotation is 11years. Actual rotation is 12 years

S o = 2% L 2T — 1.66099 X10°. @
T, 12 x 365 x 24 x 3600

Now, both (A) and (B) are the same.

Note :

The space - mass vibration within the particle (Sun) released from the
central object is ‘c’ , and rotates at the speed of ‘C’.

M, = initial mass of the sun as released from the central object.



Newton’s Law :

m = rest mass Speed .

m; = mass at speed v

u = initial speed v my v

v = final speed

a = acceleration due to force F. . .

u =0 m, u =0 t " time
vV = u¥+2al = V¥ =2al

We know that as per my theory; E= %2 mv® =/ Fch

Vamqv? = (my/2) 2a £ =m.a !
= JFch=mja{ = Fch=maf

But, according to my theory (hc/ £2) = F. A force F acting over a distance {
is equal to a force / energy wave of Compton wave length £ .

Hence, Fch = ms2a®. (hc/F) = F?= m,%a®

= F =m; a. Since at lower speeds m;= m.

we have F = ma

£, my, v, F are all applicable to force F. A force F is equivalent to a
Compton wave length of ‘" over which it is applicable. ‘' is here the
distance over which the particle reaches speed ‘v’ from zero.

CBMR - Cosmic Background Microwave Radiation :

Assume CBMR is a radiation given out by the Earth.

myo = rest mass of earth.

£, = wave length of the CBMR

vy = Speed of the earth around the Sun, which is going at the speed ‘c + V’
in absolute sense.

£, = wavelength of visible light.

m, = mass of light when treated as a particle.

2
C+V
By relativity ; & = Lo\ | 1- (0—21) | 2V,

C
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f (C+V1)2 C
t1=t|o./ 1- =\/ .t
02

2V1

! £ £
/AT =2v; ;because —~ = c as per theory
t1 C t10 t1o
2v
Vi = v _ (in the visible light range = bo  _g
21 [’Z t
10
and b= e )

2X2.9818 X10*
404.7 X 10 °

Y1=

is the peak frequency for the lowest wavelength of visible light i.e., violet
light.

= 147.36 GHz which agrees with experimental result of 160.4 GHz..

Note : c is the speed of light only; not that of microwave radiation nor that
of ultra-violet radiation. Actually

Vir) < C

Viuy) > C
Age of the Sun (since its birth) :
Assumption : All celestial bodies jet out like a stream of particles from the
central Black hole as particles; with the same starting mass and speed. u is

the external starting speed . c is the space — mass vibration speed within
the particle.

For all celestial bodies M 2v; = constant.
In the case of Sun M?, (c+v)=M,.u; where M,=7.441x10%, M,=1.99 x 10%

U= [199)(1030 }?c: 21456 X 10 2
7.441 X 10%
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Time inertia of the primordial particle of Sun w.r.t. the central black hole

Is t, = ; one cycle time is 2t,. A, w.r.t. the surroundings space is YT
M,c? )
xu C 2
;the rate of expansion is Ve, = 2— = The sun expands to its
ty 2Uu

present stage i.e., diameter of the Sun is total upto the edge of the solar
corona, in time

- 2X R 2u
Ttot _ 2 X R sCorona }Lu =>Tt0t= s Corona , Since )\‘uz 0
2
Cc

\ exn

2X21.14 X6.96X 108 X2 X2.1456 10 =
= 692)(?016 26 10 =140.31 X 10 ™

= 4.4491x10° years or 4.4491 billion years.
Which agrees with observed / calculated value of 4.5 billion years.

Note : Cycletime =21, ist, +t, ie., the period of expansion + period of
rest. The sun expands in jerks with total period of 2t,.

R corona = IS the radius from the center of the Sun till the edge of the sphere
till which Sun’s atmosphere is present; and after which the Sun’s
atmosphere is negligible and ceases to exist.

The primordial particle of Sun slows down to the speed of

C+V=c+2.0993x10” to become Sun.
DERIVATION OF R s.corona

R geo, corona = 4Re (Re is radius of earth)

2
g, geo, corona = 9.81 X Re - 0.613125
(4Re )2
Similarly Rg, corona = 274 Rs =21.14 R,

0.613125
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PREDICTION - 2 : The celestial objects jet out like bubbles from the central
black hole, at speeds greater than the speed of light ; with VOID inside
them; which helps them to float through space. The void does not have
space, time, matter and energy and is perfectly empty.

The Geocorona of the Earth is a distance of 4 Rg (Re is the radius of Earth
) from the center of the Earth., ie., 4 Rg is the space displaced by the
Earth. This is equivalent to a space-mass of h

4RE_C

By Archimedes Principle for floating objects this is the mass destroyed in
creating the void for the Earth. Therefore, the Compton wave length of the
void =

h

ty= 27Ry = (hic) 4RE'C> — 4R
4Re.  2x6371
Hence, Ry = radius of the void inside the Earth = = X 63
= 4054 Km. 2T T

This implies that the Earth’s solid portion has a thickness of Re — Ry =
6371 — 4054 = 2317 Km only. Except the top layer of crust and
hydrosphere most of the solid material of the Earth consists of densest
elements like OSMIUM or PLATINUM or IRIDIUM.



THEORY OF UNIVERSALITY

Annexure - |l

Separation of Earth from Sun :

The planet Earth is getting separated away from the Sun due to release of
energy by the Sun (which in turn releases space which pushes the Earth

away from the Sun)

The total force released by the Sun as per my theory is :

F=

1
2 r?2  h

1 R
Energy out pouring: E= NFch = \/2= :

. mc?

I

But, as per my theory this energy outpouring away from the sun releases
space as given by

Jo ..n__h
R, mc

hc
f= E

This is the compton wave length of the space released :-

Therefore, the thickness of the space layer released is :

_ 2__ 2 ry h

Is= = . )
T L R mc

This increase in the space layer is felt at the solar corona Rs_¢orona radially.
Increase in space linearly along the plane of the Sun — Earth is (at the

surface of Sun)



V2 n  h  aR?

fse=

T R; mc 4nt Ry2

Now the space — volume is conserved in the same way as mass- energy is
conserved.

Increase in space linearly along the plane of the Sun — Earth @ the surface
of Earth

2
\IT r, h - R22 47tRs -corona

47 R mc  4x R,? -4n R2

e =

Where Rscoona = 21.14 X Ry = Radius of solar corona

R = Mean distance between the Sun and the Earth. The space is released
at the least time period which is that of the time inertia of one

hydrogen atom on the Sun’s surface t, = h
mc?
VE = e = 2 I . Rsz-corona .C
t 16w R, R?

This is the speed of the drift of the planet Earth away from the Sun
Substituting the values we get ve = 15.3318 cm / yr which agrees with
observed value of 15 cm / yr

r = 4.14481x10°
R, - 6.96x10°8
I:‘s-corona = 21.14x I:11

R = 149.597 x 10°

c = 3x 108



PREDICTION -3 :

In the Solar System, the ratio of the mass of Sun to the mass of Saturn is
nearly same as the ratio of the mass of one neutron plus one proton to the
mass of an electron. We can predict that the Solar System follows
Deuterium atomic model with the Sun as the nucleus and Saturn as the
electron. Moreover, we can also predict that Saturn is the only planet which
has come out of Sun and all other planets of the Solar System are like sub-
atomic particles of the Deuterium atomic model.

PREDICTION — 4 :

We have seen in PREDICTION — 1 that the force of Sun on Earth is nearly
20,000 billion times less than the force of Earth on the Sun. We can predict
that the Solar System is a whirlpool of space in which all the planets and
the Sun are floating and the planets are kept in motion by the space in
motion and the Sun happens to be at the centre and the Sun’s hold on the
planets is feeble; compared to the planets’ force on the Sun. Moreover, we
can also predict that the planets like Earth can become stars after it slows
down to a speed of ‘¢’ from its present speed of ¢ + v,

PREDICTION -5 :

The central black hole is matter with a highest speed of ‘c’; and all the
protons in the universe rotate at the speed of light ‘c’ in the direction of the
central black hole; and all the electrons in the universe rotate in the
opposite direction at the speed ‘c’.

PREDICTION -6 :
A freely moving sphere in space will have a rotational motion also, if it has

a linear motion, and the corresponding relationship between the rotational
speed and the linear speed can be derived.

PREDICTION -7 :

The central body of the universe is rotating in one direction; and all the
protons of the universe are rotating at the speed of light ‘c’ in that direction;
and electrons in the opposite direction at the speed of light ‘c’.



PREDICTION -8 :

The elementary particles neutron, proton and electron are stable because
the universe is vibrating at the speed of light ‘c’ along with the particles
which also vibrate at the speed of light ‘c’.

PREDICTION -9 :

The least speed of any celestial body in absolute sense; outside the central
body is ‘c’; the highest speed within the central body is ‘c’.

PREDICTION —10:

The celestial objects jet out like stream of particles from the central body.
The central body and the celestial objects rotate in the same direction and
the celestial objects go around the central body in the same direction.

PREDICTION — 11 :

Positive and Negative electrical charges are because of rotation of protons
and electrons at the speed ‘c’ in opposite directions.

PREDICTION —12:

In reflection, refraction and diffraction of light; light is attracted by the
nucleus of protons and neutrons ( which behave as matter ) and repelled
by electrons ( which behave as anti-matter ); because light behaves like
matter particles.

PREDICTION - 13 :

The universe is a finite sphere with space, celestial objects, energy and
expanding. It appears to be infinite and every point of the universe appears
to be a centre ; because, of multiple reflections of light and energy by the
surface ( or boundary or edge which is actually expanding ) back into the
universe.

PREDICTION — 14 :

The universe is expanding into void and will fall back into the central black
hole; because of all anti-matter getting exploded into matter or space which
will then be attracted by the matter in the central black hole.



THEORY OF UNIVERSALITY

This theory is an attempt to describe the universal phenomena like space,
time, matter and energy as an inter-relationship bound by a newly
discovered force named as the universal force. The universal force is
shown to be the force of gravitation, electricity, magnetism, strong nuclear
and weak nuclear forces. | believe any other force, hitherto fore not
discovered; also, can be explained in terms of this universal force.

Liberal use of wave-particle duality, relativity, quantum concepts is made to
achieve a harmonious and comprehensive synthesis of all the existing
beliefs in physics into a new theory with some new concepts added here
and there. While adding new concepts, enormous care has been taken to
ensure that the existing beliefs are not contradicted. Moreover, the new
concepts are proved to be correct theoretically by deriving the constants
like G, o, etc.,

| believe, we are still at the beginning of civilization. The number of exciting
possibilities in the progress of humankind and survival of the planet seem
to be amazing. | have laid the foundation for the modern physics with this
theory of universality. Further development in understanding the concepts
and the phenomena of the universe seems to be unlimited.
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